
5. In 1980, the populations of Town A and Town B were 5,000 and 6,000, respectively. The 1990 
populations of Town A and Town B were 8,000 and 9,000, respectively. 

Brian claims that from 1980 to 1990 the populations of the two towns grew by the same amount. 
Use mathematics to explain how Brian might have justified his claim.

Darlene claims that from 1980 to 1990 the population of Town A had grown more. Use 
mathematics to explain how Darlene might have justified her claim.

Did you use the calculator on this question? 
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